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Note: (@) All questions are compulsary.

(b) Marks are indicated against each question in square brackets.

Q= 5004
Calculate the equilibrium price and queg thy,
the commodity, what will be the &u Qe
and dead-weight loss (DWL). Also show the

and after imposition of ..,_:_. .
differences in CS, PS ang- V1 h the help of diagram after price ceiling is imposed.

in a duopoly form of market. The demand and cost
uopoljstic firms are as follows: (CO4) [T
P=200-0.5(Q1 + Q)
C1 = 6Qand C; = 0.6 Q,°

ot solution, find;

Using

[N%i?% 0 your calculations up to two decimal places only]

() The equilibrium quantities for both the firms and price level,
(b) The differences in profit levels for both the firms.
(c) Show that a rise of either duopolist’s output level will cause a reduction in optiinum

output of the other duopolist.
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3. Assume that the two duopolistic firms in the above question (2), now decide to form a
cartel with the purpose of joint-profit maximization. Further, assuming that there is no
change in the demand and cost functions for both the firms, (COo4) 7]

Find the following using the collusion solution:

~ (a) Compare the equilibrium quantities for both the firms and price level, wit%it of

Cournot solution.
(b} Compare the profit differences for both the firms, with that of Cou@on.
(¢) Compare the changes in joint profit levels and changes in @d

levels, through both methods.

polist profit

W theory of money supply:
(CO5) [7]

ent yd ¥
yJpotand Futures Transactions
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